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[Time: Three Hours] [ Marks:100] .
Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Solve any two sub questions from each question.
3. All questions carry equal marks (10 each).
Explain the scientific core values adopted by social psychology. 10
Evaluate systematic observation as a method of research in social psychology. 10

‘Random assignment of participants to exparimental condition is the key requirement for 10

its success.’ Explain.

What is social cognition? How do schemas elp in social Cognition?
With experimental evidence explain the benefits of automatic processing.
‘Judgments based on representativeness heuristics can sometimes go wrong.” Explain.

Explain the tactics of impression managernent.
What is fundamental attribution error? Wiy does it occur?
‘Deception using non-verbal cues can be detected.’ Explain

What is cognitive dissonance ? How can it be resolved ?

Explain the role of social context and strength of attitudes in attitude behavior
consistency. -
‘Learning based on association can lead to attitude formation.’ Explain.

Explain correlational method of research.
Explain the causes leading to optimistic bias.

Explain correspondent inference theory of attribution.
Explain the following concepts: forewarning, selective avoidance and counter arguing.
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Please check whether you have got the right question paper.
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